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Find —d—x
dx

5
2x+3
1 =
My [3x+4)
(2 y=3t+5t+7x=7%—5t+8

Write the rules of differentiation.
OR

Find QX
dx

e X
(1) y= [7)

(2) 1+—1
1

T+—
X

Find maximum and minimum value of the function f(x) = x* - 2x*+x - 8

Evaluate, (1) 10P; x 6P, (2) 20C, + 10C,
How many four digited numbers can be formed from the digits 1, 3, 5,
7, 9?7 How many of them are (1) greater than 90007 (2) divisible by 5?
How many words can be formed using all the letters of the word
"TEJAL"? Out of which in how many words (1) 'T' is at the start?
(2) 'T' is at the start and 'L' is at the end?

OR
Find n, if

(1) N+1Cs :nCs=11:6

(2) 2nP3 =14 . nP4 ’

A committee of six is to be formed from 6 students and 3 professors.
In how many ways this can be done so that the committee contains at
least 3 students? ’
Evaluate, 6P, x 9P,

Find the area of quadrilateral with vertices A(1, 8), B(5, 2), C(12, 9)
and D(8, 13).
Obtain the equation of a line having slope m and making intercept C
on y-axis.
Obtain the equation of a line passing through the points (-1, 2) and
(5, -3). Find its slope and intercepts on the axes.

OR
Find the equation of a line which passes through the intersection of
Sx+y+4=0and2x + 3y-1=0andis perpendicularto 2x-y-8=0
Obtain the equation of a line passing through A(x, y1) and B(Xz, ¥a).

Find x if the distance between A(-3, -2) and B(x, 1) is 3410
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Q. 4

Q.4

(@)

(b)

(©)

(a)

(b)
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Solve the following finear programming problem using graphical method.
Max Z = 6x + 7y
s. t
2x +4y <48
4x + 2y £ 60
X, yz0
Write the meaning and limitation of Linear Programming.
Solve the following Assignment Problem.
A B C D
P10 12 19 11
Q| 5 0 7 8
R
S

12 14 13 11
8 15 11 9
OR
Solve the following linear programming problem using graphical method.
Min Z = 10x + 5y
s. t.
3x + 5y <150
5x + 4y = 100
0=sx=<30
O0<sy=s15
Solve the foliowing Assignment Problem.
| Dy D, D, D,
P |42 40 51 67
Q|57 42 63 58
R |49 52 48 61
S |41 45 60 55
Write the mathematical model of Assignment Problem.
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) W e,
dx
(1) y=|2X+3 ) (ov)
y Ix+4
() y=3t2+5t+7, x=7t"—5t+8 ~ (ou)
(o) Asdatotl (oA cvil. (ou)
eIl
U ) Yo
X
X (ou)
-[€ ‘
(j) y= (7)
() 1+—- (o)
1+1
X
(¢1) QA f(x) = x° - 2X° + x - 8oll HeT ial oYorcid Baucl Aad. (ou)
M. (1) oflbotiofl B 2Med. (ou)

(1) 10P,x 6P, () 20C, + 10C,

(1) 1, 3, 5,7, 9 ishigl] geI-Yel UR 2isiall Zacl) AvaARA oiofl 212 dxniel  (ou)
Bed] Avail (1) 90008 M &2 () 5 93 fo1: AN efl AsIA?

(8) "TEJAL" 2uc€all ciedl % uziddoll Guallor slal B2cl UeEl olohicf]l 2sia?  (ou)
ipdioll Bedl AEHi (1) ML 28ia T’ 6217 () UL Wid T’ ia Be

¥ia L' 6207
YY)
H. R () oflFdent #i2 nell Baud Anal.
(1) n+1Cs:nCs=11:6 . (o¥)
() 2nP; =14 . nP, (o¥)

(o1) 6 RuRflA) 21a 3 MNFAAHi 6 calsailedl s 5(1E] conadldl 8. (ou)
o0 sHleDii 2n 24Te1 3 QA Avididl 81 dl 241 53121 $edl

Ad clad] 2us1a?
(8) 6P, x 9Pgell Baid Adl. (oR)
.3 (%) RAREA A(1, 8), B(5, 2), C(12, 9) 2ia D(8, 13)8l 2auici ugpsiele] (ou)
Aois =€l
(c1) m aiadiefl 2Aa y-2121 U2 C id:vis catiad] g 2018201 Aadl. (ou)
(8) [Rigil (-1, 2) 2a (5, -3)Miell uAR adl vlig) s, 3101 adii Hi2f weti (0u)
‘ Fid:vis) M.

2Y4|
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(1) Wil 5x +y + 4 =0 3ad 2x + 3y - 1 = Ootl Beoligaiell u2uR adll 219 (0s)

2x-y -8 = 0d ddl &1 dd) Juiigf 2l Aad),
(1) QA feig A(xy, y4) 20l B(Xz, Y2)al sl Juiig] 2pfls2el Ao,

(s) [CigN A(-3, -2) 1d B(x, 1) 42qj 2id2 310 814 dl xell Eud Al

(1) ofRefl 422100 211Av1A FA B3t Anq.
Z = 6x + 7yal oflRAdfl 2clla} 41[8at HETH Glaticl.
2x +4y <48
4x + 2y <60
X, yz0
(e1) Yt ARNYotoll 1€ AnN Aofl H2uTEIRA v2nql.
(8) oAl siEi-aguelon Ul G3a And).
. ' | A B C D

P10 12 19 11
Q| 5 10 7 8
Ri12 14 13 11
S| 8 15 11 9

&1
(1) oflAell 20122101 B3 1AV FA A,
3x + 5y < 150
5x +4y =100

0<x<30d 0=y <15 2Rdla ifBlel Z = 10x + Syal ootcit clalidl.

(o1) oflRoti stf-agueNall ugiell 63c And,

| Dy D, D; D,
42 40 51 67
57 42 63 58
49 52 48 61
41 45 60 55
(5) siEi-aguelol usio] 21l 243y wendl.
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